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Full Marks : 80
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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the folloWing questions: 1x10=10
oo SERe TR el WAl ¢

(a) Which of the following countries is not
a founder member of SAARC ?

oo TrEd 41 (T (7% SAARC J 2ifSwisis
AR A2 ?
(i) Sri Lanka (i)

(ij) Pakistan (AE1)
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(b)

(c)

(d)

(iii) Afghanistan (SIFNFSI)

(iv) India (SiF9)

The World Bank started operation
in—

P4 (R0 OoT® BT T4 (! 5eTe e
8 I ? '

() June, 1944 (T, s588)

(W) May, 1946 (G, 58Y)

(i) June, 1946 (g, s38v)

(iv) None of the above (€99 9Bl 757)
The UNCTAD was established in —

UNCTAD (& b® @fewi tafee o
() 1967 (Sd>vAa bs)
(i) 1965 (Save Hw)
(i) 1964 (S>u8 Ho)
(tv) 1976 (554 pa©).

Which of the following is a featyre of
international business ?

TS CCEY T (! AT A
i :
() Use of common currency

T Y R
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(ii) Involvement of at least two countries
e FHS T (7 Tieo (Rl

(iii) Integration of economies
wifqifeq A=

(iv) All of the above

@%FH SIBIRSZE!

(e) “Socio-economic background of the
people influences international
business.” The statement is —

e SLANIES AT S WIS
sreldifEe T | 93 [RIfow —

() True (¥=)

(i) False (SI%%)

() “Balance of payments includes only
visible items of exports and import.”
This statement is —

‘e Tgez S e QT T
FisEToR AR #W 7 @R Sfew —
(i) True (B%)
(i) False (S1¥%)
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(9)

(h)

()

0)

“Ricardian theory assumes that labour
is the only factor of production.”

This statement is —

CITITTN OGS EANCe & e TeAMI
GG SATI 7 xﬂ?@‘f“@cﬁ—_

(i) True (%)
(ii) False (SIem)
“Export duty is a tariff tool of

international trade.”

This statement is —

T wF SiEAgR Afdam Ry wF g
2 S hl—

(i) True (¥2)

(it) .F alse (T1%%).

Write the full form of OPEC.

OPEC 74 Fwitot &7l |

In which year product life cycle theory

was developed ?

AGE b 0Gsl (i BT elF T (2fee 2
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Answer the following questions in about 50
words : 2x5=10

| e HERS PR Ted ¢o Gl WiH *%d e

GRS
(a) What are the two types of international
business environment ?

wEEAg ifdesd s 7o g & e
(b) State two objectives of WTO.
WTO= 75 G il

(¢ What do you mean by regional
business ?

‘\ﬂi%}%ﬁﬁ‘fﬁ@{%ﬁﬁf &l 2

(d) What are the main purposes of special
economic zones ?

B SRS ST AL SOrEPTR 5 e

(e) Give the meaning of ‘tariff’ in
international business.

S fos AE (g wF =R |
Answer any four questions from the
followmg in about 150 words : 5x4—20

e SERe Al bRt @ES Ue S¢obl. e
%@6 forai ¢

(aq) What are the merits of international
business for developing countries ?
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(b)

()

(@)

(e)

@WW@WW@’IW
AR« & &2

Explain the basic differences between
international business and domestic

business.

& AR ol

What is non-tariff barriers to trade
(NTB) ? Explain in brief.

RGN AfderT om-e afeme e &
&1 2 B A 4 |

Distinguish between balance of trade

and balance of payments.

ST SRR =N 2R 251719 iem siteky
forall |

Discuss the functions of UNCTAD.
UNCTAD-S FFett Sesval < |
Write a short note on NAFTA.
NAFTA Racg «f6 o3 (oIl forit
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4. Answer any four questions from the
following in about 600 words: 10x4=40

Tmﬂ—mmwﬁmweooﬁw
fowgw fodl 8

(a) Discuss the various modes of entry into
international business.

Do <Pl |

(b) Critically discuss the product life cycle
theory of international trade.

GG AT TSR b OG0!
ST S 5 |

(c Discuss the main objectives and
functions of IMF. . 5+5=10

G amﬁf‘aaf%ﬁ@mmwmﬁi
T SCEDN T4 |

(d) What is foreign investment? Discuss
its various types in Indian perspective.
2+8=10

o [ e [ @ eives ek
e [RGeR [ awemR Sisa 3= |
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(e) Explain the role of IT (Information
Technology) in international business.

SR e (e ©2 e wfiw
It 3 |

() Discuss the role of FDI in promoting
international business in India.

grers RNl (FDI) T S wicesa 31 |
(g) What are the objectives of World Bank ?

How has it assisted the developing
countries ?

e @5 S @ e B @ @
G TTTT T T2 FCABIS! SIioipI 2
(h) Discuss the major types of international
: business structure. How can the

barriers to international business be
overcome ? Explain. 6+4=10

SIGEAIGHE AN ey ISP et 241 |
SIS MV A4PE @te sieq FRA
Al e =0 w0
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